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Time: 3Hours

N.B: (;) Question No.1 is compulsory.
(3) Solve any three questions from the remaining ﬁ"c‘* )
() Figures to the right indicate full marks xS
@) Assume suitable data if required and mention. th@ §q;mt;

"\J "

| Solve any four S
(@)  Draw basic current mirror and derive expreS’SlUll f'or dut
reference current Ipgr. S

<
J\\I'r (\7

pu; Qurrent I,o in terrﬁs ‘

(b)  For the single stage resistive load: CS ‘ami’l‘ﬁe 3
Vin=0.5V, pnCo,‘—IOOpA,(W/L)—JO‘ and Rb K.

S REIRS SO SN S
(¢) ForNMOS dewce wnth W—lOOum lffq.é}g % gm:lOmS Fhe\l /f noise corr;;r -
frequency.is measured o be SOOkHz“JIf _fp =90A2  what, 1s ﬂlcker noise coeffici

‘K’ m thlS technologyf»
(d)

(e) I
) sfig ductance amplifier 15
Ex lam desngn pnocedure to: demgn\@ stage Operatlonal trans con
2 Bl - .\(O’II)?A) using approprlate equﬁjnb\ns to mee} the%pecnﬁcat:ons like Voltage gain
| U (Av); Gain’ Bandw:dth (GB) Sle\\FRh'fé« SR),Tower Dissipation (Puiss), Input
S n Mode Range (ICMR) Outpuh ‘oltage Range.
('\(iloli;mf(‘;equcncy compensatlog is° ‘Qecessary for operational amplifier. Explain 5

V'Mluer s compensatlonfechmquewlm ‘respect to two stage OTA.

Explam in detall WOrkmg of. sWntched capacitor Amplifier with neat circuit diagram 10
Y riate: waveforms

$ gei;ipngrent mirror load dlfferentlal amplifier to meet the following specifications 10
small-signal dltferentlai o]tage gain Av>100V/V, higher cut-off frequency f. 3db>

—"ISOKHZ ~Slew- Rate’ S[LlOV/pS C=5pF, Input common Mode Range (ICMR =

10Vt 2. SV),\Power Dissipation Paiss<2mW, Vop=3.5V, Vss=-3.5V. Use

AT

fs%'“t' A ansistors w1th Vin=0.7V pnCo:rc—IZ{)pzf'\/V2 An=0.04V",
,:\'_, l;"‘(_ I'anSl \ 2 _ OSV N
Rl "'-0.7V,upCo =60pA/VZ1=0.
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Explain with the help of suitable example why in

4 (a)

1S Incom

th input

in series wi

single voltage source

input. How this problem is overcome?

(b)

ode’ 10

mmo

ommo
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